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Rabi Yehudoh — 2% m21nn 19505072 ' 7mas 19RY ' R IR 1707 20
said; it is deep ten and not high ten we may move from it into the sea

Overview

The &3 proves that 1713 X7 n°217132 110 from the Xn°°72 in which 777 " rules that if
the ship is ten 0’19 deep and it is less than o°1d9v " above the water, we cannot draw
water onto the ship, but we can pour into the river (through the side of the ship) for
it is merely n°%752 912, Our MdoIN discusses how can we bring proof from >3, when
the o°non argue with him and state, 723nn 2°% X9 2% 7907 XD POLOLA PR, in
disagreement with >".

n1voIN asks:
= o9y 99 13399 1922 AN’ 22979 RNY»D 2110 122N 9NN ON)

And if you will say; how can we bring proof from 59 (that 1712 8% n°o»732 1)),
since the 3129 argue with him and maintain that we cannot pour from the ship into the water?!

NID0IN answers:
=175 195259 79 APIMIYA NON 209 NI NNAT PHN 19929 99IN)

And the >''1 says that in this case of " 7m23 1X1 " 7Py, the 1127 do not argue with
", rather they only argue in a case where the ship is ten 2°790 deep and it is ten

2°119Y higher than the water, so that airspace is a 19 217 -
= 219297 HMVYAT 2) DY GR 9IOX NV DIPN 797 TONN MY NHUNY917T 9910 ave

Where the 3127 maintain that it is forbidden to carry directly from a n"%29> (the
water) to a >'";19 (the ship) via a =mwp 2p» (the airspace above the water), even

though it is N1 where one is only forbidden to transfer 12972 -
=Y AN’ "N

And °'"9 permits carrying directly from a n°7173 to a >"711 by way of Muo a1pn.
- 1929 7YY YA NY ©Y NN YOYVY 35 AN NPNY /> NPYA YaN

However if the ship is deep 2°19v ' and it is not high 2°15v '> from the water the
1229 do not argue with *"7 and agree that it is permitted to carry indirectly from the

! When the ship is "> or more above the water, the airspace over the water is a 12 2 (for a o> [like a 7"777]
extends upwards no more than v"™).
2 One would be only 72 an 131277 Mo°X if he carried directly from a >"717 to a 717> (or vice versa), nevertheless the
7127 maintain that one cannot carry n°2n137 >"7 even if it passes through a Mo 0Wpn, like in our case where in order
to bring it into the ship it must go "»n n%¥n?, since the ship is " M2,
3 In this case it is stricter, for since it is not "> 77123, the airspace above the sea is still a 1775 (and not a Mws QPn),
but nevertheless the 13127 will agree that when it is only 12 it is permitted since 1773 X? n°9n122 2.
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ship to the sea via the sides of the ship since 113 X% n°91733 13 -
=75 AP /2 NN DAY NIV [(n navn) 7 pas] INDDDINA RPN 291

And this is how it is cited in the Xno01n, that a ship at sea, which is high o o0 '

above the sea and is 219V "> deep (the airspace above the sea is a 1D 0P, but nevertheless) -

- A9NY DD Y3 XYY B9 19NN PYVYVN PN

One may not carry directly from the ship to the sea, and not from the sea to the
ship -

= 9213 575 N1Y2) PNY 72 NPINY BN MIIN NN *H

"1 says, if it is deep ten and not high ten, etc. (as our X173 concludes; o°% 7217 15050
79107 277 11 X7 22K). This concludes the citation from the Xno01n, now NMOVIN continues -
= 992 9HIVHV HLHVY 9MNT NXIYAN KD 72 NNNAN /> APIYA NN 29 YIRP Y9

And this is what "9 means, when it is '> 77733 ' 7P, then without question it

is permitted to carry directly from the sea to the ship and vice versa -
- SLYLI NP NV OYPN T PN

Since he is carrying by way of a " 2ypn -
= 079N YIDDTI IND 212 JY 1D DVIVY NIPN W /2 NN NN O) NN

But even if it is not '> ;7723 there is a method by which to carry, for instance if
it is through 1> (but not directly) as the X973 explains here.

nvoN asks:
- 513297 MMIYIL NV DIPN 797 HIVYV S9Y NNNY 5399 KNYNT PNY 199399 DY)

And the 3'"9 has a difficulty; since now it turns out that according to 5" it is

permitted to carry by 31397 nyMWA via a 2wp PR -
= 7709 0PN NNIN NWIY 1PNV NIN 219D XD 1929 199N

And even the 3129 do not argue with *", only in a case where he does not place

the item in a 9w 2P, but if the item rests first in a MwD PA it is permitted -
= YINT YPPTY P9 (3,19 97 parry) PANNYN T3 P73
But in pnnwn 7395 P9 the Xni there asks, according to s9°»1 who maintains -
- PNIN MYAY 21991991 MO DYPN TIT 99NN WON

4 See ‘Thinking it over’.

5 In this case the airspace above the sea is a %172, not a D aIpn, nevertheless there is a way to carry 0% A21nn.

¢ This means that one may carry from a n°»173 (which is a 13277 M) to a *"717 (or 71"717), if it is not directly, but rather

it passes through a Mo opn, like the case of the ship.

7 mon (possibly) derives this from the X092 which states 121 @7 721 1Pou207 TR 191 3WY 7M323 700 indicating

that the 710°X is only to carry directly from the 71°90 to the 2°, however if in between he sets it down in a Mo 21p» (for

since the 7190 is " 1M1 the airspace above the sea is a v Opn), it would be permitted.

8 The xma there is not actually discussing a n°>273 but rather two 2>7%1 which are not 277wn together, so it is forbidden

112777 to carry from one 171 to the other. It is also called 131277 nwA like a n>9m10.

9 >y7 maintains that if there is a wall less than four 2’90 wide (which makes the top of the wall a 1705 Dpn) between
2
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‘It is forbidden to exchange from a n°®27> to a >"'777 by way of a =D 23p%’, so the
X773 there asks -
= 1295 53wy 1NN 29097 1093299 HNIDMN 12 PYNY 1297 RNNDD NIV 293D

But according to >7°v7 there is a difficulty from the dispute between 3''2w4 and

the j129, and the X n3 there answers this question. -
- 137955195 NY7T NINT ININ NN XYM

However now these 2°R1n here are not according to >7°p7 —

NID0IN answers:
290D 0PI 1HNINND MIPIND 8117 1195 ONNT ININ 23N DIPN DINT 91219 W

And one can say that nevertheless (even though the >"71 7127 here disagree with
"°y1), regarding those 2’8in there (11271 3"2w") since %Y can be established
according to them, we establish those o°xin according to *vr.

Summary
"3 maintains that one may carry directly 131277 n1wn2 through a Mo 2pn, and the

1127 prohibit it. All agree however that 1713 X? n°217122 1172 (even without a Mwd 21pPn).
[0 1s a greater 7°n» than a Mo Dpn. ]

Thinking it over
Why does mpoin cite the xnoown;!® there is seemingly no more proof to MooIN

two n11¥n which had separate 0°217°y; the rule is that the people of each %1 may go on top of the wall and eat food on
the wall (they are carrying from a *"717 to a mwd 0pn [or vice versa]); however they are not permitted to exchange the
food from one %11 to the other, even if it rests on the 715 2p» (the top of the wall). Carrying 71277 N2 (since N
one may carry from one X1 to another without any 217°V) through a 75 21p» is MOR according to *°yr.
10 The case there (as the X3 understood in the question) is when there is a stream of water (which is a 1°7%73) running
next to the windows and the banks of the stream are not wide o°ndv s (so they are a 7w Dpn), one is permitted to
extend the pail from the house (*"717) on the bank (75 2p») and then lower it into the stream (n°9%73) and the same
in reverse. It is evident that one may carry 11277 M”12 by way of 7w apn.
1141371 32w argue (on X,19) how wide the banks may be that it should be considered a 75 0pn (according to the 1327
less than three o°mov and according to 3"2wA less than four a°nodw.
12 The X3 answered that 1327 3"aw are (not discussing the width of the bank, but rather they are) discussing the
width of the stream. If the stream is less than three o°nov wide (according to the 7121 [or less than four according to
3"aw1]) it is a Mwd 0pn and one may carry from a *"777 to a MWD DIPH.
13 According to moon the 1321 and >"1 agree that one may carry 11277 N2 (e.g. from a "7 to a N°9173, or from one
7%77 to another) 7w 0P 777; however *°v1 maintains that one cannot. M50IN may be asking that even though we were
able to establish the np12mn in P17 not to contradict *1°v7, but nevertheless we do not find o°Rin that agree with him.
In fact the *""1 7327 here disagree with »37; it would seem pointless to try to reconcile *7°y7 with the o°Xin there, if *vr
certainly does not agree with the 0°Xin here.
14 mpoin answer that it is preferable that >v7 should at least not be negated by all the o>Rin, but rather we should be
able to say that some 2°Xin agree with *°yr
15 See footnote # 4.
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contention (that the 13127 agree with *"3 regarding n°1722 115) from the Xno0IN, more
than from our x3?!16

16 See m Hw naw.
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